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18249[B  |K 5.0 3.0 45 5.0 5.0 5.0 5.0 40 | 40| 45 4.19
19676[C |P 5.0 3.0 5.0 5.0 5.0 5.0 5.0 45 | 45| 45 4.50
19683|C  |K 5.0 brak spr. 4.5 4.5 5.0 5.0 5.0 3.5 3.5 0.0
32588(G |l 5.0 3.0 4.5 4.5 5.0 5.0 5.0 4.5 4.5 4.5 4.50
32579|K (M 5.0 3.0 4.5 4.5 5.0 5.0 5.0 3.5 3.5 4.5 3.88
325901|K _|E 5.0 3.0 4.5 4.5 5.0 5.0 5.0 45 | 45| 45 4.50
32614|M M 5.0 3.0 45 5.0 5.0 5.0 5.0 45 | 45| 45 4.50
32589|N M 5.0 3.5 45 4.5 5.0 5.0 5.0 40 | 40 | 45 4.19
19728|P |P 5.0 nieobecny 3.5 4.5 5.0 5.0 5.0 3.5 3.5 0.0
15684[S |W 5.0 3.5 45 5.0 5.0 5.0 5.0 35 | 35| 45 3.88
19846|S |M 5.0 5.0 4.5 5.0 5.0 5.0 5.0 0.0 0.0 5.0
19679|S |P 5.0 3.0 4.5 5.0 5.0 5.0 5.0 3.5 3.5 4.5 3.88
20757|W M 5.0 brak spr. 3.5 4.5 5.0 5.0 5.0 0.0 0.0 0.0 0.00
20479|W_[H 5.0 3.0 4.0 4.5 5.0 5.0 5.0 4.0 | 40 | 45 4.19
19672(W_[M 5.0 3.0 4.0 5.0 5.0 5.0 5.0 35 [ 35| 45 3.88
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny | nieobecny | nieobecny | nieobecny | nieobecny | nieobecny | 0.0 | 0.0 0.0 0.00
0 nieobecny | nieobecny | nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0 nieobecny | nieobecny [ nieobecny | nieobecny | nieobecny | nieobecny [ nieobecny | 0.0 0.0 0.0 0.00
0.0 - niezaliczone
nieobecny - nieobecny na zajeciach laboratoryjnych
brak spr. - brak sprawozdania
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